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Note : It is compulsory to attempt any (4 -4) parts each from Q.No. 2, 3 and 4 while attempt any (02)
Questions from Part il. Write same Question Number and its Part Number as given in the Question Paper.
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What is Prototype ? T.;‘:, y’ o, ..,.:r":;:..; (iy 2 /‘Uiy-:

i
Convert (999 )1[] into Hexadecimal Number System._.f:fggj_f P (E—;-‘J‘:‘:'EL—_C'/ (999)

10 (i) E
What is meant by Act It Out? ‘-"{.JI/L;’/ e itk (iii) E
Define Validation. ﬂi'-—i’/;; L; ﬁHJ (iv) E
Define Binary Number System. _i._y/‘h‘. J (L&;JL': (v) E
Write down the names of types of Computer Memory. _-‘?..’ﬁ;'l‘-ért:" J df}‘:ﬁr{ (vi) E
State Identity Law. -"Ef_’:dk dﬁﬁ'glid“f il d/" (i) Sﬁdffi
Define Logical Operators. -f‘i:—!!/'? S .F/*:.;T(ﬁ'?ﬂ (i) E
By Truth Table prove : A-B=B-A : 5#*&;’;4-@ (iii) é
What 1s Network Protocol ? ?ﬁ.rﬂ l_a_f Jﬁ:{J}u‘f (iv) ?
What 1s the major disadvantage of Star Topology ? ?s:'_ gwh'ﬂli:c:.-.,-f 1 U’-JJEJU-' {v) E
Give one example of Point to Pcint Connection. _’;;J&hﬂsfdlﬂ&':{:}@'!{ (Vi) E
What is meant by " Software Key" in Piracy? Ce e ! dfﬁh-‘-jb’ ’ u’:&f’k (i) 4/105—”'5
What is meant by Online Piracy ? T.::.*-ﬂ/l,f; Lﬁ}&ufﬂdf (ii) l
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Write HTML Code to apply background Color of Webpage.

What is meant by Mark Up Language? ?.;.;yg = é:@f?JL (iv)
Which are two basic parts of HTML Page? ?L&'::..u):@i"ﬁ S L o= HTML (v)
What is the difference between <br> and <p>Tag? e J/l_f(ﬁ._ﬁ <p>unl <br> (vi
o pmmmm
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Discuss four notations used in formulation of an Algorithm.
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Write a note on Ring Topology and Mesh Topology.
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Write down any four Ethical Issues related to Security in detail.

— o’ ek e

- O N Rl WA el - e TR e T e e B U W T T W N R e s e e mee mm T e e A RO T e T e T e S N T e Er e e e e e e e e me e Rl e i e T




